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(\ A ) /7 An insurance company has 120,000 to spend on the development and promotion

of 8 new insurance policy for car owners. The company cstimates that if x is spent

| * $112 372
on development and y is spent on promotion, then 4(‘}0 000 policies will be sold,

company can sell?

(\ ;/0) g" A virus is spreading through a population in a manner that can be modeled by the

function |

A
1+ Be™ -

where A is the total pupul.aticm, g(?) is the number infected at tl_I_I;;!, and B is a constant,

g@=

What proportion of the pqpl;latiun 18 infected when the virus is Bpraadl ing the fastest?
k\ﬂ 7 ) Cf A company’s value at time ¢ is gmwing at a rate proportionatl to the difference between
20 and its value at 7 .

At¢=0,thevalueis2. Atr=1, the valueis 3.

Calculate the value at ¢ = 3' -.

An ice cream vendor can sell ' CONEE at & i, :
&\ 5 £ ) 10 _ 500 ice cream cones at a price of 2 per ice cream cone.

For each 0.01 increase in tha. price per ice cream cone, the vendor will sell § fewer |

ice cream cones. For each 0.01 decreass In price, it will sell 5 more.
The vendor has fixed costs of 75 and variable costs of 0,10 per ice cream cone

What price per ice cream cone should the vendor charge in order to fnaximize profit?

& 8 3 R

(%#%) (7] % 354, A

R R I - 1ﬂihm&;#ﬂ HHARAX &
. 2#xﬂﬂbﬂmﬂﬁ-uLW!xi*iH#xih*(hexﬁ!ﬁ“”ﬁm)'

3ﬂﬂ&##ﬂ#ﬁumﬂ$m ulﬁiﬁmﬂt-

1
- E] Fam? e o i m B bl e o . g [ —_—




